Relationship brightnessB* 1 and luminanceLt as function
of tristimulus value Y7 for the adaptation luminanceL ;=1500cd/m'

Relationship brightnessB*  and luminanceLt as function
of tristimulus value Yt for the adaptation luminancel 5= 1500cd/m?

B (LT, La §) = Cr($)LT — Ba(La ) brightnessBY

[1

Ba(La ¢)=Cr(¢)[So(¢)+51(¢1)/LQ] (n=0,31) 12]| BalLa §) = Cr(®)[So(0) + Su(¢)Lal (n=0,31) [2]
Lie(La 0) = [So(d) +Sy(@)La] ™" (t=black threshold)  [3]|| s«(¢) =Cr(9) [3] dya(®) =BalLa ¢) [4] (s=scaling factor)
Lt ¢ Cr®) So@) Si(d) Balad) By L Lilifflr ¢ Cr(®) So) Si(9) Ballad) Bip  (9) dxa(d)
8372 120" 22,969 0,0718 0,2448 68,92 308,83 34,63 8{8372 120" 22,969 0,0718 0,2448 68,92 308,83 22,96 68|
5219 120’ 22,969 0,0718 0,2448 68,92 257,36 34,63 8f5219 120" 22,969 0,0718 0,2448 68,92 257,36 22,96 68|
3000 120" 22,969 0,0718 0,2448 68,92 205,89 34,63 8f3000 120" 22,969 0,0718 0,2448 68,92 205,89 22,96 68|
1536 120" 22,969 0,0718 0,2448 68,92 154,41 34,63 8f1536 120 22,969 0,0718 0,2448 68,92 154,41 22,96 68|
660 120' 22,969 0,0718 0,2448 68,92 102,94 34,63 8{660 120' 22,969 0,0718 0,2448 68,92 102,94 22,96 68|
209 120" 22,969 0,0718 0,2448 68,92 51,47 34,63 8@209 120' 22,969 0,0718 0,2448 68,92 51,47 22,96 6
34,63 120" 22,969 0,0718 0,2448 68,92 0,00 34,63 834,63 120’ 22,969 0,0718 0,2448 68,92 0,00 22,96 68
660 120' 22,969 0,0718 0,2448 70,75 102,94 34,63 8{660 120' 22,969 0,0718 0,2448 70,75 102,94 22,96 68|
hes20-1a =0, L;=300,L=3000,§=120', B;=68,92,8, ;205,89 hes20-2a =0, L=300,L ;=3000,§=120', B;=68,02 B ;=205,80,5=22,96,05=68,92

Bir(L1, La ) = S(O)LT — dkalLas ) brightnessB1 1 [1]

Relationship brightnessB*,; and luminanceLt as function
of tristimulus value Y+ for the adaptation IumlnanceLa—lsoocd/m

Relationship brightnessB*,; and luminanceLy as function
of tristimulus value Y+ for the adaptation IumlnanceLa—l5OOCd/m

BYr(Lr, Ly, Lr 9) = [Cr(@)LT - Br(Lr, 9)]Bta
Br(Lr, 9) = CT(¢)[50(¢)+51(¢)L] (n=0,31,B1,=B1

LT,r
1/n

brightnessB*+ [1]
1Bir.a) [2]

BYr(LT, L, ) = Sra(@)LT — dyra(d) brlghmESS BYr [U
Br(Lr, §) = Cr($)[So(d) + Su(d)Lr] =B /Blra) [2]

(n=0,31,B%,=B" 1,

Lyt(La ) = [So(@) + Su(d)L7] (t=black threshold)  [3]|| syra(®)=Cr($)B%a [3] Cyra($)=B:(Lr, §)B%, [4] (s=scaling factor)
Yt ¢ Cr(®)  Sold) Si(6) Br('—r:¢) B*YT Lyt Lalle || YT [} Cr(9) So(d) S1(9) Br(Lr.9) B*y'r Syra(¢) dyra(¢)
4066 120' 22,969 0,0718 0,2448 34,60 149,99 16,82 8{4066 120' 22,969 0,0718 0,2448 34,60 149,99 11,15 3§A
2535 120" 22,969 0,0718 0,2448 34,60 124,99 16,82 8{2535 120’ 22,969 0,0718 0,2448 34,60 124,99 11,15 3|
1457 120’ 22,969 0,0718 0,2448 34,60 99,99 16,82 8§ 1457 120’ 22,969 0,0718 0,2448 34,60 99,99 11,15 3.
746 120’ 22,969 0,0718 0,2448 34,60 74,99 16,82 8746 120" 22,969 0,0718 0,2448 34,60 74,99 11,15 3.
320 120" 22,969 0,0718 0,2448 34,60 49,99 16,82 8§1320 120" 22,969 0,0718 0,2448 34,60 49,99 11,15 3
101 120" 22,969 0,0718 0,2448 34,60 24,99 16,82 8§101 120" 22,969 0,0718 0,2448 34,60 24,99 11,15 3
34,63 120" 22,969 0,0718 0,2448 34,60 0,00 16,82 8§16,82 120’ 22,969 0,0718 0,2448 34,60 0,00 11,15 3
320 120’ 22,969 0,0718 0,2448 35,53 49,99 16,82 8320 120" 22,969 0,0718 0,2448 35,53 49,99 11,15 3.
hes20-3a_]=0, L,=300,5~3000 $=120', B,=34,60,8%=116,67 hes20-4a_J=0, [,=300,L,~3000,$=120", B,=34,60,8% 1 =116,675yra=11.15,0y7a=33.4

hes20-3R R,



